## Dawson County School System vs Regional School Systems (2019 Metrics)

SystemName	Expended	k12 Enrolled	PPE	SingleScore*	FESR
Forsyth Co.	\$433,729,731.61	48827	\$8,882.99	92.7	5
Cherokee Co.	\$375,864,187.19	41831	\$8,985.30	83.4	4.5
Hall Co.	\$249,399,653.87	26661	\$9,354.47	72.4	3.5
Habersham Co.	\$70,616,443.85	6696	\$10,546.06	80.9	2.5
Pickens Co.	\$44,162,744.73	4243	\$10,408.38	73.8	2.5
Gilmer Co.	\$40,432,550.44	4048	\$9,988.28	79.5	2.5
Lumpkin Co.	\$36,448,904.23	3818	\$9,546.60	75.5	3
White Co.	\$38,439,616.30	3802	\$10,110.37	79.6	3
Dawson Co.	\$40,579,734.53	3475	\$11,677.62	78.2	2

Paying the Most – To Achieve Below Average Mediocrity!

\* Dawson County had the lowest enrollment of any school system in our area.

\* Dawson County spent the Most Money Per Child of any school system in our area.

\* Dawson County scored in the lowest 45% (below Avg.) for CCRPI of school systems in our area.

\* Dawson County had the Worst Financial Efficiency Rating of any school system in our area.

## ABREVIATIONS:

**PPE =** Amount Spent Per Student

SINGLESCORE = "College and Career Ready Performance Index" (CCRPI)

**FESR =** Financial Efficiency Star Rating

"The Financial Efficiency Star Rating (FESR) provides a comparison of district spending per student with overall academic performance. The goal of the star rating is <u>to provide a comparison of district spending</u> <u>per student with overall academic performance</u>."

Above referenced data can be found in State Of Georgia Online Reports at the following location: https://gosa.georgia.gov/accountability-0/financial-efficiency-star-rating

Systeml d	System Name	School_A mt_17	Federal_ Amt_17		k12_enrol Iment_17	Federal_ PPE_17	State_Lo cal_PPE_ 17	SingleSc ore_2017
System ID	System Name	FY17 Included Expendit ures	FY17 Included Federal Expenditu res	FY17 Included State/Loc al Expendit ures	Full-Time		al	2017 Single Score

		State_Lo			State_Lo			
_	Federal_ Amt_18		k12_enrol	Federal_ 3 PPE 18		SingleSc ore 2018	_	_
/ 10	/	10	interne_re	 	10	010_2010	/	/

		FY18				FY18			
	FY18	Included		FY18	FY18	Per-Pupil			FY19
FY18	Included	State/Loc	FY18	Per-	Per-Pupil	State/Loc		FY19	Included
Included	Federal	al	Full-Time	Pupil	Federal	al	2018	Included	Federal
Expendit	Expenditu	Expendit	Enrollmen	Expendi	Expenditu	Expendit	Single	Expendit	Expenditu
ures	res	ures	t	ture	re	ure	Score	ures	res

State_Lo cal_Amt_ k12_enro 19 Iment_19	ol Federal_ PPE_19 PPE_19		SingleSc ore_2019		SS_Av g	PPE_pctl	FESR
							2019 Finan
FY19		FY19		Three-	Three-		cial
Included	FY19 FY19	Per-Pupil		Year	Year	Per-Pupil	Effici
State/Loc FY19	Per- Per-Pupil	State/Loc		Per-Pupil	Single	Expendit	ency
al Full-Time	Pupil Federal	al	2019	Expendit	Score	ure	Star
Expendit Enrollme	n Expendi Expenditi	u Expendit	Single	ure	Averag	Percentil	Ratin
ures t	ture re	ure	Score	Average	е	е	g